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1.Mr.Sivasanker subjected him to a scrutiny.(change the voice)

Ans: He was subjected to scrutiny by Mr.Sivasanker.

2. You are always abusing and worrying Sidda.(change the voice)

Ans: Sidda is always being abused and worried by you.

3 .“I have asked the moon to follow us about”, Sidda said to Leela.(change the narration)

Ans: Sidda told Leela that he had asked the moon to follow them about.

4. She had to goback __1__ the kitchen__2__ a moment because she had left something_3__ the
oven . When she came __4__ again and called ‘Sidda’, there was no answer. Sidda had vanished
__5__ the night.( fill in the blanks with articles and prepositions)

Ans: 1. into 2. for 3.in 4. out 5.into

5. The gold chain was missing. Leela’s mother asked Leela about it.(join using relative clause)

Ans: Leela’s mother asked Leela about the gold chain that was missing.

6. Mr.Sivasanker was unable to make up his mind. He called his wife.(join to form a simple
sentence)

Ans: Being unable to make up his mind Mr.Sivasanker called his wife.

7. Return the chain. [ will let you go.(join to form a compound sentence)

Ans: Return the chain and I will let you go.

8. They were standing near the rose plant.(change to a complex sentence)

Ans: They were standing where there was the rose plant.

9.These fellows who have been in jail once or twice lose all fear.(change to a simple sentence)
Ans: Having been in jail once or twice these fellows lose all fear.

10. The fellow does not seem to be a bad sort.(change to affirmative)

Ans: The fellow seems to be a good sort.



11. The fellow looks tidy.(change to a negative sentence)

Ans: The fellow does not look untidy.

12. Her mother gave her a slap.( rewrite using the verb form of ‘slap”)

Ans: Her mother slapped her.

13. “ Let him be”, Leela replied haughtily.( rewrite using the noun form of ‘replied’)
Ans: “Let him be”, Leela gave a haughty reply.

14. It was utterly impossible for her mother to think of a story now.(split into 2 or 3 short simple
sentences)

Ans: a. Her mother could not think of a story.
b. It was utterly impossible for her now.
15. None of these could Sidda even remotely copy.( rewrite using the adjective form of ‘remotely’)

Ans: Sidda could not even make a remote copy of any of these.
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